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1. Do NOT open this question book-until instructed by the supervisor.

2. Right after you are instructed to start the examination, fill in your subject, program, and
identification number on the answer sheet.

3. If examinations are not taken in the designated subject, you will be disqualified.

4. "When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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Postharvest and Food Engineering
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(3¢You can answer either in English or in Japanese)

1. TEEOREL-L 12056, Wi 1 2IEETL. 2k, 1-1122oW T, &$
OHAXNDEDTHRETDHZ L. (B0 K)

(Question 1). Answer only one question either 1-1 or 1-2. In the case of Question
1-1, you need to show the solving process. (50%)

1-1 EFELWEYRERB I UESO b= b Pa—X 25, b rE2—1LA, B,
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(Question 1-1) A tomato puree marinated with salt produces a uniform tomato juice
by blending and mizing to obtain the desired dietary fiber and salt contents. The
compositions of the desired product and the available blending tomato purees are
given as follows:

If the blended tomato juice product is 100 kg, what weight of each tomato puree is
required?

dietary fiber (w/w%) salt (w/wh)
Tomato pures A . 1.4 0.4
Tomato puree B 1.6 1,2
Tomato puree C 1.8 10.0
Blended tomato juice 1.5 2.0

12 Yik0FRYOBRELFIET 3BEEEICONT, FORFFEEZRBRFEEED
TR N,

(Question 1-2) Answer the design method of package cushioning for fresh produce in
the distribution process together with the testing method.

2. SUTORAEND 5 22BY, ThThoBERPMEEHAY L. (10 AX5)
(Question 2). Select five technical terms from the list below and explain the
meaning of each term briefly. (10%X5)

Arrhenius 3. (Arrhenius Equation) &)L (Enthalpy)
Bt E (Drying Characteristic Curve) FI A (Onics)

BERA E—F 2R (Blectric Impedance) HFEEMEAR] (Surfactant)
BT (Vacuum Precooling) F & AF ¢ — (Texture)

~F R (Peltier Effect) Y72 (Young' s Modulus)
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Answer the following questions in Japanese or English.

Ri1.

Q1: Disease cycle & Life cycle of the pathogen ME\ %, %217 TR X, Explain the
difference between a disease cycle and a life cycle of the pathogen with examples.
Q2: FLzEIT Figure | Z/EX¥ X, Draw Figure 1 based on the passage.
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(1) TDEILEFEAT, Q1 & Q2IT% % X, After reading the passage, answer Q1 and Q2.

KDM~GH 5 3 BEBRLUTARELREY, EEL, RFHR2E | FEOBEHRL
THHEEE, (VELTBRIRT 22 L, FERMEREE | FEOBEHB & THHEE ()
bET S NS 3EEBERTIIE L, (20 Rx3)

Answer three of following five questions. You must select the question (1) if your first choice of the
academic adviser is Prof. Shishido. You must select three questions from (1)—(5) if your first choice
of the academic adviser is Assoc. Prof. Usami.

Explain mechanisms of true resistance in plant cultivars and how pathogens overcome that
resistance.

MR ORBIIRHME & BRI OR Z Th T 2 DL EET, BEmiCiAE L,
Give more than two examples of respective “static resistance” and “dynamic resistance” of plants
and explain them concretely.

REA53 I B DAL D B RVIEFLME S K O BIRIIEIME IS LT 2 2 2 T 1 BIBL RS
F. BARICEEE X,

How do pathogens resist plant resistance? Give at least one example of respective “static resistance”
and “dynamic resistance” of plants and explain them concretely.

TREYRE LIS EFRFAE L, COBBREDCHIE 2 2LL T THAE X,
Explain what a soilborne disease is. Additionally, give more than two examples of control methods
for soilborne disease and explain them.

WO ~(HDFEADERZ TTHRALAIV, (10 Kx4d)
Explain the following four words.

FmaNIE L8 (disease suppressive soil)
MRS (symptomless infection)
JEEHR (vascular disease)

¥4#5% (phytotoxin)
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